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The figures in the margin indicate full marks
Jor the questions C

1. w7 Towh A Shea/woe fiar emRem tee

forar - 1x8=8
Choose the correct answer/Answer the
following questions :

(a) <1 R oA QAYEE Ry Pt =2

Why does demand curve for a commodity
slope downward?
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(b) FRCrF @R TE (TR
The slope of the indifference curve is
(i) o w3[ At AfeTE 2| |

marginal rate of
between the two goods

(i) FRIN A 2R =9

marginal rate  of
substitution

= (i) oRwER AT
= elasticity of substitution '

(iv) ©RT GBS A
None of the above

() eaRks Cocaber RR wnz%r
ES |
The marginal utility theory is associated
with
) W=
Marshall
fi) s
Pigou
: Ricardo
fiv) ¥R
Keynes

substitution

technical

—
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(e)

(9

)
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o R &9
What is income effect?

Sas TR e Bt
Define opportunity cost.

W’L‘fﬂﬁmﬁwwsr%ww
STOR W6 ¥'F

Condition ‘of a firm’s equilibrium under
perfect competition in the short run is

i MC=MR

(i) MR =
MR = Price

fit) (i) T (ii) TCAH
Both (i) and (i)

(iv) ST WIS AW

None of the above

wifde I 62

What is economic cost?

Fofcere &R e fi o
Define oligopoly.

( Turn Over )



(4) ' ' (5)

2. wore faRee R e wikbr o Gt o (afedr %1/ Or
y¢o W1 foowe) ¢ 4x4=16
Write short notes on any four of the following (b) VIR R 11 1C [ﬁ;ﬁ? BRI
' ‘ = I 2+10=12
(a) wizm RR o
fd 4 - What do you mean by price elasticity
Law of deman . of demand? What are the factors
(b) TeoAHT TR @Y . . which determine the price. elasticity of
__ Production possibility frontier | demand? Explain. ‘
F W C‘T"ﬂ S
‘ 4. (o) P @ FTea B @ Fee @
Iso-cost line
. QRMEPER o Trm w1 2+9=11
(d) TR o W

‘What do you mean by indifference

Long-run average cost curve? Explain the - properties of

() S e o indifference curve with diagram. .
Budget constraint %37/ Or

wore fRa ShePTpE R o (aRH ¢oo 3 Ree) : ®) ﬁm@"‘"““s’ e B g7 wmpEe Sl

Answer the following questions (within S00 words o ' 2+9=11

each) : What do you mean by utility? Give a
‘ critical analysis of the law of diminishing

3. (@ () M @R TERRRT W HRAR marginal utility.
JARTETY T <N B o 6 '

‘Distinguish  between  shift of ' —— -
demand curve and movement along 5. fa) S s o1 e

a demand curve.’ RRY STACABIEF S 3 | . 3+8=11

. Define production functxon. Critically
Aq_g ﬁﬁﬁ?ﬁﬂ? N P91
“ Explain the determinants of supply ° discuss the Jaw of variable proportion.
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16)
&R/ Or

(b) S-S QIR S el | AN-Beor =
TP QIR TS GG A R

SICIN] S I oIz WeaAwa 91 2+9=11

Define iso-quant. Explain diagram-
rnatically . how ‘a producer -attains
equilibrium with the help of 1so-quant
a’ﬁ-so-cost lines. ., & .

(@) () = SHRFIF P O (TR) &F P |/

(TC) weame Reea .«@or G frar |
Write a note on TR-TC approach of
profit maximization.

(i) - TRE B e Ridw Zrefiv I
BT ST F40 |

Explain the inter-relationship
between the various short-run costs
with suitable diagram.

o1/ Or

(k) i fegfie R Wit Reafer e
sfiewie R 741 e FRemE Sk
/RO F9

What are economies of scale? Explain
briefly about various factors leading
to economies of scale and diseconomies
of scale with examples.

2+4+5=11

( Continued )

7. (a)

(b)

24P—5500/491

(7)

o sRcafe R of ofwien g
wfEpmEz B < afecaivee R Beamm
fAfira = Ba TR wEN FM1 2+4+5=11
What is perfect competition? Write
some of the features of perfect
competition. Diagrammatically explain
the output determination under perfect
competition. o

%31/ Or

2+7+2=11

What is monopolistic competition?
Discuss the important characteristics
of monopolistic competition. Write
two differences between monopoly and
monopolistic competition.
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